SAP ABAP table NTPV {IS-H: Assign Service to Base Planning Object}

CKBS
MANDT [CLNT (3)]
KOKRS [CHAR (4)]
EXTNR [CHAR (18)]

NTPV-EXTNR = CKBS-EXITNR 0:.N

- NTPK
g MANDT [CLNT (3)]
o EINRI [CHAR (4)]
,~" NTPV-TALST = NTPK-TALST _ N | TARIF [CHAR (2)]
1 -7 TALST [CHAR (10)]

TOO0O
MANDT [CLNT (3)]

TKAO1
MANDT [CLNT (3)]
KOKRS [CHAR (4)]

1\\ \\\

I . NTPV-TARIF = TNKO01-KATID B 6\1\\1 TNO1
IR " | MANDT [CLNT (3)]
e EINRI [CHAR (4)]
IR TNKO1

0..N | MANDT [CLNT (3)]
EINRI [CHAR (4)]
KATID [CHAR (2)]




